Séquence de Nombres Linéaires (D)

Remplissez les nombres qui manquent de chaque nombre linéaire.

! ! !
868 793

718 568 493 343 268
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
261 281 301 311 321
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
474 499 524 574 624 674 699
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
594 694 794
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
240 340 440 490 540 590 640 690
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
979 879 679 579 179 79
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
364 414 464 814
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
833 808 783 758 733 708 683 658

Différence commune:
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Séquence de Nombres Linéaires (D) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
943 868 793

718 643 568 493 418 343 268
Différence commune: -75
| | | | | | | | | |
| | | | | | | | | |
231 241 251 261 271 281 291 301 311 321
Différence commune: 10
——
474 499 524 549 574 599 624 649 674 699
Différence commune: 25
——
444 494 544 594 644 694 744 794 844 894
Différence commune: 50
—t
240 290 340 390 440 490 540 590 640 690
Différence commune: 50
| | | | | | | | | |
| | | | | | | | | |
979 879 779 679 579 479 379 279 179 79
Différence commune: -100
—
364 414 464 514 564 614 664 714 764 814
Différence commune: 50
| | | | | | | | |
| | | | | | | | | |
858 833 808 783 758 733 708 683 658 633
Différence commune: -25
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